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COMPUTER APPLICATION (COMMERCE)

Maximum : 60 Scores
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Cool off time : 15 Minutes
/ General Instructions to Candidates : \

® There is a 'Cool off time' of 15 minutes in addition to the writing time
of 2 hrs.

® You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.

® Use the 'cool off time' to get familiar with questions and to plan your
answers.

® Read the questions carefully before answering.

All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from
the same question itself. ;

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.
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1. Processed data is known as ........
a) facts
b) figures
c) information

d) raw material

2. USB port stands for ..............
a) Uniform Serial Bus
b) Universal Serial Bus
¢) Uninterruptible Serial Bus

d) Updatable Serial Bus

3. Fill the missing block.

¢

1)

(1)

Source Code

i

4, Which one of the following 1s

NOT a search engine?
a) Google

b) Bing

c) Face book

d) Ask

5. In ICT enabled services BPO

stands for .........

HSSLIVE.IN
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MOMIHALOONQT WOIROD .overeiiersees
ag)My alO@my,
a) facts
b) figures
¢) information

d) raw material (1)

UBB ... gatodglem (al@lmilwome
a1y,

a) Uniform Serial Bus

b) Universal Serial Bus

¢) Uninterruptible Serial Bus

d) Updatabie Serial Bus (1)

®00¥ 6 H0SOma)8Hym /@

allgiealo@alom ali@lalleaid.

v

(1)

Object Code

@oeY mmidlenimauid emdal
age2llid aegoame) ag®)?

a) Google

b) Bing

c) Face book

d) Ask (1)

ICT 9alewomegsiemiwies amaim
smaglad BPO (aaflaiiwomo eaigpma
(1)
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6. for, while, do while are the 6. for,while, do while gymenwa
three looping statements in C++. C++ oa1 @@ (CRICCRED
From these three loops which mideacemgosm.  mald 2l
loop will execute the loop body mdeswaoam Wi
OBROE 6N 1Ll o loop eel
at least once even though the
0deau6mw@d &0, (JoQuuynsslelo
condition is false? g §
oM@l B OISy M,
a) for loop a) for loop
b) while loop b) while loop
¢) do while loop ¢) do while loop
d) do for loops (1) d) do for loops (1)
Te HTTP stands e 7_ HTTP @M Wome G)mg]g(mrm"
protocol. Ll B MR o B[ I0BZOCEINA. (1)
8. IDE stands for ................... (1) | 8. IDE alimiwomo O2IQPM@ ........... (1)
a) Integrated Development Environment
b) Information Development Environment
c) Inheritance Development Environment
d) Interactive Development Environment
9. Let X and Y are two variables of 9. X, Y a9 aloemd oo aldem
int data type, then correct the Molj68 030811 60D
following input statement. QaleWonleeymy  agmilelsnes.
: (@ 6013 6) M W 0 6)6M 81 @ mO6Y
in<<X>>Y;
TR 1) @aridleanm gadays mdesnoios
omg @loyen .
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10.

11

12.

13.

14.

In a flow chart, the terminal (an
ellipse) symbol is used to
indicate the ......... and &...... in

the program logic.

A S is a computer peripheral

that allows you to connect and

communicate with other

computers via telephone lines.

Differentiate or define the terms

Hard Ware (H / W) and Soft
Ware (S / W) in a computer
system. Give one example for
each.

a) Convert (1010.11), to

decimal.

b) Find the missing terms in the
following series.

i, 1087, 100 0

Predict the output of the

following operations.

x = -5 and y = 3 initially
a) —x

b) x/y

c) x%y

d) —-x+-%

OR
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(1)

(1)

(3)

(2)

(1)

(2)

10.

11.

12.

13.

14.
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. §B%0msMo Aflmo M@

a) (1010.11), ogm £ 66nImol
Moalye®w HAMIaG Mol @D
@ORY>-

b) @oev @ o @) e @

allgiealo@lom aljdlafleanid.

18, TASNC, 7 .. ,

x o @ece aflel —5 Qo Yy WieS
@pooe alle) 3 Ho @OeEM®IM, MY
®MAGEOM (BIWBHDHE ERANMES
DOMOMBR ag)PADIH. |
a) —x

H '
By sy SSLIVE.IN
c) x%y

d) —x+-y
@6 ) ad
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(1)

3)

(2)

(1)



15.

16.

b iy

OR
Consider the following
statement.
int Length;

Then what is the difference
between (a) and (b)?

a) Length = 50

b) Length = = 50 (2)

Arrange the following memory
or storage devices on the base of
their

operation speed in

ascending order.
a) Hard Disk
b) Cache -

c) RAM

d) Registers (2)
List the different stages in

programming.

(3)

Classify the following identifiers
valid or invalid. If invalid, give

a reason.
a) Length_1

b) _Lengthl
Y gpne HSSLIVE.IN

c) Length 1

d) 1Length (4)
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(CTTE AT

@oeY  e@mlclenym  mdegmo
aJ@lem6)6;.

int Length;

TeemEsl@  ®moeyw @m1aleei0m
aldegmwo (a) wio (b) Wjo manflenss
QU@ ag)Pim)ds.

a) Length = 50
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b) Length == 50 (2)
15. @oev alO@m Mo@®mem

DalBH0EMENBHS @OLQOS (aIBGHM

BUN®mWOS @slamnom o) @l

@DEDO0EM (BAOTE ag)93®mids.

a) Hard Disk

_b) Cache

c) RAM

}) Registérs (2)
16. suoonlonioe alaw *RISEB M

ag)PYDHs. (3)
17. @09 emiden;m @OQAWF 000,

BB @mIBHI®e @EsMo ®OLJEWO

ag)am’ S:006mvadi®mo Qg) L5

a) Length_1

b) _Lengthl

c) Length 1

d) 1Length (4)
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19.

20.
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18. A part of bio data of a student is 18. aqy aflepd@dlwyes  AlED]
k _ allaueedlee allel GWEBMH 2)0160S
given. Identify the data types
caldamoleeMy. OV GRS
which we can use to store and ®oalygol@  qelenimalmie
process these data. Mo &A1HNM@IMio BMIEQORY
DOW BAWR OORBUD af)Fimids.
Roll_Number : 34
Roll_Number : 34
Age : 17 As : 17
Sex : M Sex ; M
Mob_Number 8181818181 Mob_Number 8181818181
Height_In_Cm 152.8 Height_In_Cm 152.8
Pincode 690601 (3) Pincode 690601 (3)
State weather the following 19. @oey mmlaleeym mldecwEBMD
statement are true or false. If WEIWOGEMD  OMFOEEMO )M’
false, give a reason. (4) £00MMVACI@o ag) . (4)
a) Break statement is essential in switch
b) For loop is an entry controlled loop
c) DO .o B while loop is an entry controlled loop
d) Switch is a selection statement.
URL stands for Uniform 20. URL (@ Imwome 6algma
Resource Locator. Every @jemleando Clamodm’ eaoedRd
resource on the internet has a ag)moemeglo. apdemelenss €0srd
unique URL. Then classify the SAemodmime &) apasleym URL
following URL on the basis of pemowidlanie maEamewEsld ®oe?
; g omidlenym URL e ccissasd
2 coudadle] ag)wimid:.
index.html
http://www.dhsekerala.gov.in/
a) Network protocol e him)
b) Domain name a) Network protocol (o eald)
c) File name (3) b) Domain name (6@ Gal®)
HSSLIVE.IN c) File name (6@ @) (3)
6
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21,

22.

24,

How is a WAN different from a
LAN?
IfA=5, B=4, C=3,d=4,then
what is the result in X after the
following operation?
X=a+b-cx*d

OR
Is there any difference between
(a) and (b) by considering the
following statement?
char Gender;
(a) Gender = 'M/;
(b) Gender = "M";

. Your friend Ravi purchased a

new PC for his personal use.
Mention the components
required to connect this PC to

internet.

Compare the advantages and
disadvantages of implementing

e-Business.

HSSLIVE.IN

. Compare Dot Matrix Printer

(DMP). Inkjet Printer, Laser
Printer and Thermal Printer on
the basis of their working speed,
quality of printing and expense

for printing.
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(3)

(3)

(3)

(3)

(3)

(5)

21.

22.

23.

24.

25.

WAN, LAN socu manilepgs aymyomo
g) IO,

A=5 B=4 C=3,d-= 4,
@REIBOMWOREMELIT ®MOOY ®Id]-
BN (BIWes oo X e allel
ag)moidleane?

X=a+b-c*d
@6 )| md

®0eY  @mmlalenym  mdeswo
@16 H6) 8.

char Gender;
@memem@onemesla@d (a) , (b) eoau
®oilenss QmIdMIo ag)PiIdE:.

(a) Gender = 'M";

(b) Gender = "M";

alemaes Moo ool 8o} aleiw
Moalygd uoem]. @EOoBHE 0D
dhoalylgolem o@Pdamglesios’
enlawlaflenzaiond @YU DIDOW
CRISHEBR ag)#ImBs.
e-Business lal 8O @ @
QUOIOMM DO B6NBE  NDYEINETBE)0
emelsoayMm eagalgleglo
afloudlae)ss.

®O6Y

alo@im  (allROyS:e8

MAURIOS (aUdEDM eUn®,
@oojsles eom, @o)Slonenlens
QUM
@slmoomala moomaye 6.o1Q@
Qg) LI )s.

Dot Matrix Printer (DMP),

Inkjet Printer, Laser Printer,

ealelal HAUWOS

Thermal Printer
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(3)

(3)

3)

(3)

(3)

(5)
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26. Rewrite the following code
using else if ladder.
#include<iostream>
using namespace std;
int main()

{
int colour;
cout<<"Enter a number
between 1 and 4:";
cin>>colour;
switch (colour)
{
case 1:
cout<<"Red";
Break;
case 2:
cout<<"Green";
break;
case 3:
cout<<"Blue";
break;
default:

cout<<"wrong input";

OR

Write a C++ program to find the
biggest number from 3 given

numbers.

(5)

(5)
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26. ®oey maldleanm elomoo else if
palewoudla) ool )Ly (5)
#include<iostream>
using namespace std;
int main()
{
int colour;
cout<<"Enter a number
between 1 and 4:";
cin>>colour;
switch (colour)
{
case 1:
cout<<"Red";
Break;
case 2:
cout<<"Green";
break;
case 3:
cout<<"Blue";
break;
default:

cout<<"wrong input";

@6 g)@slad

®mMIClenym MM Moty @

a3Rlge
HOMBOMIMBIMIBS 0]

aelw o6y

C++
(5)

GalO|o af) P 1des.
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